# Matrices related to the idempotent numbers and the numbers of planted forests

Weiping Wang a, \* Tianming Wang a, b

- <sup>a</sup> Department of Applied Mathematics, Dalian University of Technology Dalian 116024, P.R.China
  - b Department of Mathematics, Hainan Normal University Haikou 571158, P.R.China

#### Abstract

In this paper, we study the matrices related to the idempotent number and the number of planted forests with k components on the vertex set [n]. As a result, the factorizations of these two matrices are obtained. Furthermore, the discussion goes to the generalized case. Some identities and recurrences involving these two special sequences are also derived from the corresponding matrix representations.

Keywords: Matrices; Idempotent numbers; Planted forests; Combinatorial identities

#### 1. Introduction

Recently, the Pascal matrix and several generalized Pascal matrices have catalyzed many investigations (see, e.g., [1, 2, 3, 8, 13, 14]). On the other hand, the Stirling matrices of the first kind and of the second kind as well as the Lah matrix are also received wide concern [4, 5, 12]. In the papers referred to above, we can see not only various properties satisfied by the corresponding matrices, especially the factorizations of them, but also some interesting and useful identities.

By the impetus of these works, in this paper, we will study the matrix related to the idempotent number I(n,k) [6, Section 3.3] as well as the matrix related to the number J(n,k) of planted forests with k components

<sup>\*</sup> $E\text{-}mail\ addresses:\ wpingwang@yahoo.com\ (W.P.\ Wang),\ wangtm@dlut.edu.cn\ (T.M.\ Wang)$ 

on the vertex set [n] (cf., [11, Section 5.3]), where

$$I(n,k) = \binom{n}{k} k^{n-k}, \quad J(n,k) = \binom{n-1}{k-1} n^{n-k}.$$

It seems that the numbers J(n, k) are more interesting for their explicit combinatorial meanings. Besides what we have just mentioned, J(n, k) is also known as the number of labeled trees on n + 1 nodes with maximal node degree k (see [10]).

Let's define  $IP_n$  and  $J_n$  to be the  $n \times n$  matrices related to these two sequences:

$$(IP_n)_{i,j} = I(i,j), \quad (J_n)_{i,j} = J(i,j), \quad \text{for } i,j = 1,2,\cdots,n.$$

For example,

$$IP_4 = \left( egin{array}{cccc} 1 & 0 & 0 & 0 \\ 2 & 1 & 0 & 0 \\ 3 & 6 & 1 & 0 \\ 4 & 24 & 12 & 1 \end{array} 
ight), \quad J_4 = \left( egin{array}{cccc} 1 & 0 & 0 & 0 \\ 2 & 1 & 0 & 0 \\ 9 & 6 & 1 & 0 \\ 64 & 48 & 12 & 1 \end{array} 
ight).$$

As shown in [10], some well known combinatorial sequences, such as the number of labeled rooted trees with n nodes  $(n^{n-1})$  and the number of labeled trees on n nodes  $(n^{n-2})$ , are all closely related to the matrix  $J_n$ . The readers are referred to [10] for more such sequences as well as the corresponding references.

In preparation for the study, we will first demonstrate the relationship between I(n, k) and J(n, k) (see [6, p. 164]), which is given by the lemma below.

#### Lemma 1.1. We have

$$\sum_{l=j}^{i} I(i,l) \cdot (-1)^{l-j} J(l,j) = \delta_{i,j}, \qquad (1.1)$$

where  $\delta_{i,j}$  is the Kronecker delta ( $\delta_{i,i} = 1$ ,  $\delta_{i,j} = 0$ ,  $i \neq j$ ). As a consequence,

$$(IP_n^{-1})_{i,j} = (-1)^{i-j}J(i,j). (1.2)$$

**Proof.** (1.1) is equivalent to the following identity:

$$\sum_{l=i}^{i} \binom{i}{l} \binom{l-1}{j-1} (-1)^{l-j} l^{i-j} = \delta_{i,j}.$$

To verify it, we need only consider the case when i > j. In fact, by appealing to the identity [7, p. 2, equation (1.13)]:  $\sum_{k=0}^{n} (-1)^k \binom{n}{k} k^j = 0$  for  $0 \le j < n$ , we have

$$\begin{split} &\sum_{l=j}^{i} \binom{i}{l} \binom{l-1}{j-1} (-1)^{l-j} l^{i-j} = \sum_{l=j}^{i} \frac{i}{l} \binom{i-1}{l-1} \binom{l-1}{j-1} (-1)^{l-j} l^{i-j} \\ &= i \binom{i-1}{j-1} \sum_{l=j}^{i} \binom{i-j}{l-j} (-1)^{l-j} l^{i-j-1} \\ &= i \binom{i-1}{j-1} \sum_{k=0}^{i-j} \binom{i-j}{k} (-1)^k (k+j)^{i-j-1} \\ &= i \binom{i-1}{j-1} \sum_{l=0}^{i-j-1} \binom{i-j-1}{l} j^{i-j-1-l} \left( \sum_{k=0}^{i-j} \binom{i-j}{k} (-1)^k k^l \right) = 0 \,, \end{split}$$

which completes the proof.

In Section 2, the factorizations of  $IP_n$  will be given, and by making use of (1.2),  $J_n$  will also be factorized. Sections 3 is devoted to the generalized matrices of  $IP_n$  and  $J_n$ . Finally, in Section 4, some interesting identities as well as recurrence relations related to I(n,k) and J(n,k) are obtained with the method of matrix representation.

# 2. Factorizations of $IP_n$ and $J_n$

**Lemma 2.1.** The idempotent numbers I(n, k) have the following generating functions:

$$\Phi(t, u) = \sum_{n, k > 0} I(n, k) \frac{t^n}{n!} u^k = \exp(ute^t), \qquad (2.1)$$

$$\Phi_k(t) = \sum_{n \ge k} I(n, k) \frac{t^n}{n!} = \frac{1}{k!} (te^t)^k . \tag{2.2}$$

**Proof.** By virtue of the explicit value of I(n, k), we have

$$\Phi(t, u) = \sum_{n,k \ge 0} {n \choose k} k^{n-k} \frac{t^n}{n!} u^k = \sum_{k,l \ge 0} \frac{k^l}{k! l!} t^{k+l} u^k$$
$$= \sum_{k \ge 0} \frac{u^k t^k e^{kt}}{k!} = \exp(ute^t).$$

And (2.2) is a direct consequence of (2.1).

**Lemma 2.2.** The idempotent numbers I(n,k) satisfy the following recurrence relation:

$$I(n,k) = \sum_{m=k-1}^{n-1} (n-m) \binom{n-1}{m} I(m,k-1).$$

**Proof.** Equate the coefficients of  $t^{n-1}/(n-1)!$  in the first and last member of

$$\sum_{n\geq 0} I(n,k) \frac{t^{n-1}}{(n-1)!} = \frac{\mathrm{d}\Phi_k}{\mathrm{d}t} = (1+t)e^t \Phi_{k-1}(t)$$
$$= (1+t) \sum_{n\geq 0} \left( \sum_{m=0}^n \binom{n}{m} I(m,k-1) \right) \frac{t^n}{n!} \,,$$

and we will get the result.

Now, defining  $A_n$  to be the  $n \times n$  matrix by

$$(A_n)_{i,j} = (i-j+1)\binom{i-1}{j-1}, \text{ for } i,j=1,2,\cdots,n,$$

and using the notation  $\oplus$  for the direct sum of two matrices, we can obtain the factorization of the matrix  $IP_n$  from Lemma 2.2.

**Theorem 2.3.** The matrix  $IP_n$  related to the idempotent numbers can be factorized as

$$IP_n = A_n([1] \oplus IP_{n-1}).$$
 (2.3)

For example, if n = 4, we have

$$\begin{aligned} IP_4 &= \\ \begin{pmatrix} 1 & 0 & 0 & 0 \\ 2 & 1 & 0 & 0 \\ 3 & 6 & 1 & 0 \\ 4 & 24 & 12 & 1 \end{pmatrix} = \begin{pmatrix} 1\binom{0}{0} & 0 & 0 & 0 \\ 2\binom{1}{0} & 1\binom{1}{1} & 0 & 0 \\ 3\binom{2}{0} & 2\binom{2}{1} & 1\binom{2}{2} & 0 \\ 4\binom{3}{0} & 3\binom{3}{1} & 2\binom{3}{2} & 1\binom{3}{3} \end{pmatrix} \begin{pmatrix} 1 & 0 & 0 & 0 \\ 0 & 1 & 0 & 0 \\ 0 & 2 & 1 & 0 \\ 0 & 3 & 6 & 1 \end{pmatrix}.$$

Analogous to [2, 4, 13, 14], if we define the  $n \times n$  matrix  $\bar{A}_k$  by

$$\bar{A}_k = \left( \begin{array}{cc} I_{n-k} & O \\ O & A_k \end{array} \right) \,,$$

we can further factorize the matrix  $IP_n$ . It is obvious that  $\bar{A}_n = A_n$ , and  $\bar{A}_1$  is the identity matrix  $I_n$ .

**Theorem 2.4.** The matrix  $IP_n$  can be factorized by the matrices  $\bar{A}_k$ 's:

$$IP_n = \bar{A}_n \bar{A}_{n-1} \cdots \bar{A}_2 \bar{A}_1. \tag{2.4}$$

For example,

$$IP_4 = egin{pmatrix} 1 & 0 & 0 & 0 \ 2 & 1 & 0 & 0 \ 3 & 6 & 1 & 0 \ 4 & 24 & 12 & 1 \end{pmatrix} = egin{pmatrix} 1 & 0 & 0 & 0 \ 2 & 1 & 0 & 0 \ 3 & 4 & 1 & 0 \ 4 & 9 & 6 & 1 \end{pmatrix} egin{pmatrix} 1 & 0 & 0 & 0 \ 0 & 1 & 0 & 0 \ 0 & 2 & 1 & 0 \ 0 & 3 & 4 & 1 \end{pmatrix} egin{pmatrix} 1 & 0 & 0 & 0 \ 0 & 1 & 0 & 0 \ 0 & 0 & 2 & 1 \end{pmatrix}.$$

Additionally, we can factorize the matrix  $J_n$ . In order to do it, the next lemma is required.

Lemma 2.5. We have

$$S_n \cdot L_n = A_n \,, \tag{2.5}$$

where  $S_n$  is a  $n \times n$  matrix defined by

$$(S_n)_{i,j} = \left\{ \begin{array}{ll} 1, & \text{if } j = i, \\ i-1, & \text{if } j = i-1, \\ 0, & \text{else}, \end{array} \right.$$

and  $L_n$  is the general  $n \times n$  Pascal matrix  $(L_n)_{i,j} = {i-1 \choose j-1}$ . Moreover, the inverse matrices of  $S_n$  and  $A_n$  are given by:

$$(S_n^{-1})_{i,j} = \left\{ \begin{array}{ll} \frac{(-1)^{i+j}(i-1)!}{(j-1)!} \,, & \text{if } i \geq j \,, \\ 0 \,, & \text{else} \,, \end{array} \right.$$

$$(A_n^{-1})_{i,j} = (-1)^{i+j} {i-1 \choose j-1} \sum_{l=i}^{i} \frac{(i-j)!}{(i-l)!}.$$

**Proof.** By means of the definition of the matrix product, we can easily verify (2.5) as well as the values of the elements of  $S_n^{-1}$ . And in light of the well known fact that  $(L_n^{-1})_{i,j} = (-1)^{i-j} \binom{i-1}{j-1}$ , we can also deduce  $(A_n^{-1})_{i,j}$  for  $i, j = 1, 2, \dots, n$ .

With Lemma 2.5, we can prove a recurrence relation satisfied by J(n, k). Actually, equation (2.3) implies that

$$IP_n^{-1} = ([1] \oplus IP_{n-1})^{-1}A_n^{-1}$$
.

And in view of (1.2), we have

$$J(i,j) = \sum_{l=i}^{i} J(i-1,l-1) {l-1 \choose j-1} \sum_{k=j}^{l} \frac{(l-j)!}{(l-k)!}, \qquad (2.6)$$

Thus, according to this recurrence, the factorizations of the matrix  $J_n$  can be deduced.

Theorem 2.6. The matrix  $J_n$  can be factorized as

$$J_n = ([1] \oplus J_{n-1})B_n = \bar{B}_1 \bar{B}_2 \cdots \bar{B}_{n-1} \bar{B}_n, \qquad (2.7)$$

where the  $n \times n$  matrix  $B_n$  is defined by

$$(B_n)_{i,j} = {i-1 \choose j-1} \sum_{l=i}^i \frac{(i-j)!}{(i-l)!}, \text{ for } i,j=1,2,\cdots,n,$$

and 
$$\bar{B}_k = \begin{pmatrix} I_{n-k} & O \\ O & B_k \end{pmatrix}$$
, with the special cases  $\bar{B}_n = B_n$  and  $\bar{B}_1 = I_n$ .

For example,

$$J_{4} = \begin{pmatrix} 1 & 0 & 0 & 0 \\ 2 & 1 & 0 & 0 \\ 9 & 6 & 1 & 0 \\ 64 & 48 & 12 & 1 \end{pmatrix} = \begin{pmatrix} 1 & 0 & 0 & 0 \\ 0 & 1 & 0 & 0 \\ 0 & 2 & 1 & 0 \\ 0 & 9 & 6 & 1 \end{pmatrix} \begin{pmatrix} 1 & 0 & 0 & 0 \\ 2 & 1 & 0 & 0 \\ 5 & 4 & 1 & 0 \\ 16 & 15 & 6 & 1 \end{pmatrix}$$
$$= \begin{pmatrix} 1 & 0 & 0 & 0 \\ 0 & 1 & 0 & 0 \\ 0 & 0 & 1 & 0 \\ 0 & 0 & 2 & 1 \end{pmatrix} \begin{pmatrix} 1 & 0 & 0 & 0 \\ 0 & 1 & 0 & 0 \\ 0 & 2 & 1 & 0 \\ 0 & 5 & 4 & 1 \end{pmatrix} \begin{pmatrix} 1 & 0 & 0 & 0 \\ 2 & 1 & 0 & 0 \\ 2 & 1 & 0 & 0 \\ 5 & 4 & 1 & 0 \\ 16 & 15 & 6 & 1 \end{pmatrix}.$$

## 3. Generalized numbers and matrices

It is obvious that an inverse relation can be obtained from Lemma 1.1. That is, for two sequences  $\{a_n\}$  and  $\{b_n\}$ ,

$$a_n = \sum_{k=0}^n \binom{n}{k} k^{n-k} b_k \,,$$

if and only if

$$b_n = \sum_{k=0}^{n} (-1)^{n-k} \binom{n-1}{k-1} n^{n-k} a_k.$$

This inverse relation as well as some generalizations can be found in [9, Chapter 3]. And in the present paper, we will consider one of these generalizations: for two sequences  $\{a_n\}$  and  $\{b_n\}$ ,

$$a_n = \sum_{k=0}^n \binom{n}{k} (x+k)^{n-k} b_k ,$$

if and only if

$$b_n = \sum_{k=0}^n (-1)^{n-k} \binom{n}{k} (x+k)(x+n)^{n-k-1} a_k.$$

Naturally, we will regard  $I(x;n,k) = \binom{n}{k}(x+k)^{n-k}$  and  $J(x;n,k) = \binom{n}{k}(x+k)(x+n)^{n-k-1}$  as the generalizations of I(n,k) and J(n,k), respectively. And the corresponding  $n \times n$  matrices  $IP_n[x]$  and  $J_n[x]$ , which are defined as follows:

$$(IP_n[x])_{i,j} = I(x;i,j), \quad (J_n[x])_{i,j} = J(x;i,j),$$
  
for  $i, j = 1, 2, \dots, n$ ,

can also be viewed as the generalizations of  $IP_n$  and  $J_n$ , respectively. For instance,

$$IP_4[x] = \left( egin{array}{cccc} 1 & 0 & 0 & 0 \\ 2(x+1) & 1 & 0 & 0 \\ 3(x+1)^2 & 3(x+2) & 1 & 0 \\ 4(x+1)^3 & 6(x+2)^2 & 4(x+3) & 1 \end{array} 
ight),$$

$$J_4[x] = \left( egin{array}{ccccc} 1 & 0 & 0 & 0 \ 2(x+1) & 1 & 0 & 0 \ 3(x+1)(x+3) & 3(x+2) & 1 & 0 \ 4(x+1)(x+4)^2 & 6(x+2)(x+4) & 4(x+3) & 1 \end{array} 
ight).$$

In this section, we will give the factorizations of these two matrices.

**Lemma 3.1.** The generalized idempotent numbers I(x; n, k) have the following generating functions:

$$\Phi(x;t,u) = \sum_{n,k>0} I(x;n,k) \frac{t^n}{n!} u^k = e^{xt} \exp(ute^t),$$
 (3.1)

$$\Phi_k(x;t) = \sum_{n \ge k} I(x;n,k) \frac{t^n}{n!} = \frac{1}{k!} t^k e^{(x+k)t} . \tag{3.2}$$

**Proof.** In fact, we have

$$\sum_{n,k\geq 0} \binom{n}{k} (x+k)^{n-k} \frac{t^n}{n!} u^k$$

$$= \sum_{k,l\geq 0} \frac{u^k t^{k+l} (x+k)^l}{k! l!} = \sum_{k\geq 0} \frac{u^k t^k}{k!} \sum_{l\geq 0} \frac{(x+k)^l t^l}{l!} = \sum_{k\geq 0} \frac{u^k t^k e^{(x+k)t}}{k!}$$

$$= e^{xt} \sum_{k>0} \frac{u^k t^k e^{kt}}{k!} = e^{xt} \exp(ute^t),$$

from which (3.1) holds. And by identifying the coefficients of  $u^k$  in (3.1), we can obtain the vertical generating function (3.2).

**Lemma 3.2.** The generalized idempotent numbers I(x; n, k) satisfy the following recurrence relations:

$$(1 - \frac{k}{n})I(x; n, k) = (k + x)I(x; n - 1, k), \qquad (3.3)$$

$$\frac{k}{n}I(x;n,k) = \sum_{m=k-1}^{n-1} {n-1 \choose m}I(x;m,k-1).$$
 (3.4)

**Proof.** (3.3) can be verified directly. For (3.4), we differentiate (3.2) with respect to t first:

$$\sum_{x}I(x;n,k)\frac{t^{n-1}}{(n-1)!}=\frac{\partial\Phi_k(x,t)}{\partial t}=e^t\Phi_{k-1}(x,t)+(k+x)\Phi_k(x,t)\,.$$

And then, by equating the coefficients of  $t^{n-1}/(n-1)!$  in the formula above, we have

$$I(x;n,k) = \sum_{m=0}^{n-1} {n-1 \choose m} I(x;m,k-1) + (k+x)I(x;n-1,k),$$

which leads us at once to the result in light of (3.3).

### Corollary 3.3. We have

$$\frac{k}{n}I(n,k) = \sum_{m=k-1}^{n-1} {n-1 \choose m}I(m,k-1).$$
 (3.5)

**Proof.** This is a direct consequence by letting x = 0 in (3.4).

If we define the  $n \times n$  matrix  $\widetilde{IP}_n$  by  $(\widetilde{IP}_n)_{i,j} = jI(i,j)/i$ , we can get its factorizations immediately from (3.5):

$$\widetilde{IP}_n = L_n([1] \oplus IP_{n-1}) = L_n \bar{A}_{n-1} \cdots \bar{A}_2 \bar{A}_1. \tag{3.6}$$

Moreover, according to (2.3) and (2.5), we have  $IP_n = S_n L_n([1] \oplus IP_{n-1})$ , which yields the relationship between  $IP_n$  and  $\widetilde{IP}_n$ :

$$\widetilde{IP}_n = S_n^{-1} I P_n \,. \tag{3.7}$$

In order to get the factorizations of  $IP_n[x]$  and  $J_n[x]$ , we should define some new matrices, which will be shown below. For  $i, j = 1, 2, \dots, n$ ,

$$(\widetilde{IP}_n[x])_{i,j} = \frac{j}{i} I(x; i, j) , \quad (L_n[x])_{i,j} = \begin{cases} \binom{i-1}{j-1}, & \text{if } j \neq 1, \\ (x+1)^{i-1}, & \text{if } j = 1, \end{cases}$$

$$(S_n[x])_{i,j} = \begin{cases} x^{i-j-1}(x+j), & \text{if } j < i, \\ 1, & \text{if } j = i, \\ 0, & \text{if } i > i. \end{cases}$$

The inverse matrices of  $L_n[x]$  and  $S_n[x]$  can be easily found.

$$\begin{split} (L_n^{-1}[x])_{i,j} &= \left\{ \begin{array}{ll} (-1)^{i-j} {i-1 \choose j-1} \,, & \text{if } j \neq 1 \,, \\ -x^{i-1} + (-1)^{i-1} \,, & \text{if } j = 1 \,, \end{array} \right. \\ (S_n^{-1}[x])_{i,j} &= \left\{ \begin{array}{ll} \frac{(-1)^{i+j} (i-1)!}{j!} (x+j) \,, & \text{if } j < i \,, \\ 1 \,, & \text{if } j = i \,, \\ 0 \,, & \text{if } j > i \,. \end{array} \right. \end{split}$$

Thus, from (3.4), we get the relationship between  $IP_n[x]$  and  $\widetilde{IP}_n[x]$ :

$$\widetilde{IP}_n[x] = L_n[x]([1] \oplus IP_{n-1}[x]).$$
 (3.8)

On the other hand, analogous to (3.7), we obtain another one:

$$\widetilde{IP}_n[x] = S_n^{-1}[x]IP_n[x]. \tag{3.9}$$

Making use of (3.8) and (3.9), the factorization of  $IP_n[x]$  can be finally achieved.

**Theorem 3.4.** The matrix  $IP_n[x]$  related to the generalized idempotent numbers can be factorized as

$$IP_n[x] = S_n[x]L_n[x]([1] \oplus IP_{n-1}[x]).$$

$$IP_4[x] = \left( egin{array}{cccccc} 1 & 0 & 0 & 0 \ x+1 & 1 & 0 & 0 \ x(x+1) & x+2 & 1 & 0 \ x^2(x+1) & x(x+2) & x+3 & 1 \ \end{array} 
ight) \left( egin{array}{ccccc} 1 & 0 & 0 & 0 \ (x+1)^2 & 2 & 1 & 0 \ (x+1)^3 & 3 & 3 & 1 \ \end{array} 
ight).$$
 $\left( egin{array}{ccccc} 1 & 0 & 0 & 0 \ 0 & 1 & 0 & 0 \ 0 & 2(x+1) & 1 & 0 \ 0 & 3(x+1)^2 & 3(x+2) & 1 \ \end{array} 
ight).$ 

By defining the  $n \times n$  matrix  $A_n[x] = S_n[x]L_n[x]$ , we can obtain the factorization of  $J_n[x]$ .

**Theorem 3.5.** The matrix  $J_n[x]$  can be factorized as

$$J_n[x] = ([1] \oplus J_{n-1}[x])B_n[x],$$

where the  $n \times n$  matrix  $B_n[x]$  is defined by  $(B_n[x])_{i,j} = (-1)^{i-j}A(x;i,j)$  for  $i, j = 1, 2, \dots, n$ , and A(x;i,j) is the (i,j)-entry of  $A_n[x]$ .

## 4. Identities and recurrence relations

According to the matrix representations obtained in Section 2 and Section 3, a number of interesting identities and recurrence relations related to the numbers I(n, k) and J(n, k) can be achieved.

Theorem 4.1. We have

$$\sum_{l=k}^{n} (-1)^{l-k} I(n,l) J(l-1,k-1) = (n-k+1) \binom{n-1}{k-1}, \tag{4.1}$$

heorem 4.1. We have
$$\sum_{l=k}^{n} (-1)^{l-k} I(n,l) J(l-1,k-1) = (n-k+1) \binom{n-1}{k-1}, \qquad (4.1)$$

$$\sum_{l=k}^{n} (-1)^{l-k} \binom{n-k}{l-k} (l-1)^{l-k-1} l^{n-l-1} = \frac{n-k+1}{n(k-1)}, \quad \text{for } k \ge 2, \quad (4.2)$$

and

$$\sum_{l=k}^{n} (n-l+1) \binom{n-k}{l-k} (k-1)^{l-k} = nk^{n-k-1}, \quad \text{for } k \ge 1.$$
 (4.3)

**Proof.** (4.1) and (4.2) are direct consequences of the fact that  $IP_n([1] \oplus IP_{n-1})^{-1} = A_n$ . And (4.3) is a equivalent form of (2.3).

Theorem 4.2. We have

$$\sum_{l=k}^{n} (-1)^{n-l} I(n-1,l-1) J(l,k) = \binom{n-1}{k-1} \sum_{l=k}^{n} \frac{(n-k)!}{(n-l)!}, \tag{4.4}$$

$$\sum_{l=k}^{n} (-1)^{n-l} \binom{n-k}{l-k} (l-1)^{n-l} l^{l-k} = \sum_{l=k}^{n} \frac{(n-k)!}{(n-l)!}, \tag{4.5}$$

and

$$\sum_{l=k}^{n} (-1)^{l-k} (l-k+1) {l-1 \choose k-1} J(n,l) = J(n-1,k-1), \qquad (4.6)$$

$$\sum_{l=k}^{n} (-1)^{l-k} (l-k+1) \binom{n-k}{l-k} n^{n-l} = (k-1)(n-1)^{n-k-1}, \quad \text{for } n \ge 2.$$
(4.7)

**Proof.** (4.4) and (4.5) follow from  $([1] \oplus J_{n-1})^{-1}J_n = B_n$ ; while (4.6) and (4.7) follow from  $J_nB_n^{-1} = ([1] \oplus J_{n-1})$ .

Equation (3.6)  $\widetilde{IP_n} = L_n([1] \oplus IP_{n-1})$  will lead us at once to the next three theorems.

Theorem 4.3. We have

$$\sum_{l=k}^{n} {l-1 \choose k-1} J(n-1,l-1) = \frac{k}{n} J(n,k), \qquad (4.8)$$

$$\sum_{l=k}^{n} (l-1) \binom{n-k}{l-k} (n-1)^{n-l-1} = kn^{n-k-1}, \quad \text{for } n \ge 2,$$
 (4.9)

and

$$\sum_{l=k}^{n} \binom{n-k}{l-k} (k-1)^{l-k} = k^{n-k}. \tag{4.10}$$

**Proof.** We can get (4.8) and (4.9) from the factorization  $\widetilde{IP}_n^{-1} = ([1] \oplus IP_{n-1})^{-1}L_n^{-1}$ , and get (4.10) from (3.6).

Theorem 4.4. We have

$$\sum_{l=k}^{n} (-1)^{l-k} \frac{l+1}{n+1} I(n+1, l+1) J(l, k) = \binom{n}{k}, \tag{4.11}$$

•

$$\sum_{l=l}^{n} (-1)^{l-k} \binom{n-k}{l-k} (l+1)^{n-l} l^{l-k-1} = \frac{1}{k}, \quad \text{for } k \ge 1,$$
 (4.12)

and

$$\sum_{l=k}^{n} (-1)^{l-k} \frac{k+1}{l+1} I(n,l) J(l+1,k+1) = (-1)^{n-k} \binom{n}{k}, \qquad (4.13)$$

$$\sum_{l=k}^{n} (-1)^{l-k} \frac{k+1}{l+1} \binom{n-k}{l-k} (l+1)^{l-k} l^{n-l} = (-1)^{n-k}. \tag{4.14}$$

**Proof.** These four identities follow from  $\widetilde{IP}_n([1] \oplus IP_{n-1})^{-1} = L_n$  and  $([1] \oplus IP_{n-1})\widetilde{IP}_n^{-1} = L_n^{-1}$ , respectively.

Theorem 4.5. We have

$$\frac{k}{n} \sum_{l=k}^{n} (-1)^{n-l} \binom{n}{l} I(l,k) = I(n-1,k-1), \qquad (4.15)$$

$$\sum_{l=k}^{n} (-1)^{n-l} \binom{n-k}{l-k} k^{l-k} = (k-1)^{n-k}. \tag{4.16}$$

and

$$\frac{k}{n} \sum_{l=k}^{n} (-1)^{l-k} \binom{l}{k} J(n,l) = J(n-1,k-1), \qquad (4.17)$$

$$\sum_{l=k}^{n} (-1)^{l-k} \binom{n-k}{l-k} l \cdot n^{n-l-1} = (k-1)(n-1)^{n-k-1}, \quad \text{for } n \ge 2.$$
(4.18)

**Proof.** These four identities follow from  $L_n^{-1}\widetilde{IP}_n = ([1] \oplus IP_{n-1})$  and  $\widetilde{IP}_n^{-1}L_n = ([1] \oplus IP_{n-1})^{-1}$ , respectively.

Finally, by appealing instead to (3.7)  $\widetilde{IP}_n = S_n^{-1}IP_n$ , we will achieve the following theorems.

Theorem 4.6. We have

$$I(n,k) = \frac{n!}{n-k} \sum_{l=1}^{n-1} \frac{(-1)^{n-l-1}}{(l-1)!} I(l,k), \qquad (4.19)$$

$$k^{n} = (n-k)! \sum_{l=k}^{n} \frac{(-1)^{n-l}l}{(l-k)!} k^{l-1} = (n-k-1)! \sum_{l=k}^{n-1} \frac{(-1)^{n-l-1}l}{(l-k)!} k^{l}, \quad (4.20)$$

and

$$J(n,k+1) = (\frac{1}{k} - \frac{1}{n})J(n,k). \tag{4.21}$$

**Proof.** They follow from  $\widetilde{IP}_n = S_n^{-1}IP_n$  and  $\widetilde{IP}_n^{-1} = IP_n^{-1}S_n$ , respectively.

Theorem 4.7. We have

$$I(n-1,k) = (\frac{1}{k} - \frac{1}{n})I(n,k), \qquad (4.22)$$

and

$$J(n,k) = \frac{1}{n-k} \sum_{l=k+1}^{n} \frac{l!}{(k-1)!} J(n,l), \qquad (4.23)$$

$$\frac{1}{n^k} = (n-k-1)! \sum_{l=k+1}^n \frac{l}{(n-l)!n^l} = (n-k)! \sum_{l=k}^n \frac{l}{(n-l)!n^{l+1}}.$$
 (4.24)

**Proof.** They follow from  $S_n\widetilde{IP}_n = IP_n$  and  $\widetilde{IP}_n^{-1}S_n^{-1} = IP_n^{-1}$ , respectively. Moreover, we can see that (4.22) is just a special case of (3.3).  $\square$ 

Theorem 4.8. We have

$$\sum_{l=k}^{n} (-1)^{l-k} \frac{l}{n} I(n,l) J(l,k) = \frac{(-1)^{n+k} (n-1)!}{(k-1)!},$$
 (4.25)

$$\sum_{l=k}^{n} (-1)^{l-k} \binom{n-k}{l-k} l^{n-k} = (-1)^{n-k} (n-k)!, \qquad (4.26)$$

and

$$\sum_{l=k}^{n} (-1)^{l-k} \frac{k}{l} I(n,l) J(l,k) = \begin{cases} 1, & \text{if } n=k, \\ k, & \text{if } n=k+1, \\ 0, & \text{else}, \end{cases}$$
 (4.27)

$$k^{2} \binom{n}{k} \sum_{l=k}^{n} (-1)^{l-k} \binom{n-k}{l-k} l^{n-k-2} = \begin{cases} 1, & \text{if } n=k, \\ k, & \text{if } n=k+1, \\ 0, & \text{else.} \end{cases}$$
 (4.28)

**Proof.** These four identities follow from  $\widetilde{IP}_nIP_n^{-1} = S_n^{-1}$  and  $IP_n\widetilde{IP}_n^{-1} = S_n$ , respectively.

Remark. The identities in this section are all verified by the method of matrix representation. However, we should notice that some of them can

also be obtained by means of inverse relations. For instance, (4.16) can also be deduced from (4.10) according to the famous inverse relation:

$$a_n = \sum_{k=0}^n \binom{n}{k} b_k, \quad b_n = \sum_{k=0}^n (-1)^{n-k} \binom{n}{k} a_k.$$

#### References

- [1] M. Bayat, H. Teimoori, The linear algebra of the generalized Pascal functional matrix, Linear Algebra Appl. 295 (1-3) (1999) 81-89.
- [2] R. Brawer, M. Pirovino, The linear algebra of the Pascal matrix, Linear Algebra Appl. 174 (1992) 13-23.
- [3] G. S. Call, D. J. Velleman, Pascal's matrices, Amer. Math. Monthly 100 (4) (1993) 372-376.
- [4] G.-S. Cheon, J.-S. Kim, Stirling matrix via Pascal matrix, Linear Algebra Appl. 329 (1-3) (2001) 49-59.
- [5] G.-S. Cheon, J.-S. Kim, Factorial Stirling matrix and related combinatorial sequences, Linear Algebra Appl. 357 (2002) 247-258.
- [6] L. Comtet, Advanced Combinatorics, D. Reidel Publishing Co., Dordrecht, 1974.
- [7] H. W. Gould, Combinatorial Identities, A standardized set of tables listing 500 binomial coefficient summations, Morgantown, W.Va., 1972.
- [8] P. Maltais, T. A. Gulliver, Pascal matrices and Stirling numbers, Appl. Math. Lett. 11 (2) (1998) 7-11.
- [9] J. Riordan, Combinatorial Identities, Reprint of the 1968 original, Robert E. Krieger Publishing Co., Huntington, N.Y., 1979.
- [10] N. J. A. Sloane, Sequences A061356, A000169, A053506, A053507, A053508, A053509, A002378 and A000272 in "The On-Line Encyclopedia of Integer Sequences."
- [11] R. P. Stanley, Enumerative Combinatorics, Vol. 2, Cambridge University Press, Cambridge, 1999.
- [12] M. Tan, T. Wang, Lah matrix and its algebraic properties, Ars Combin. 70 (2004) 97-108.
- [13] Z. Zhang, The linear algebra of the generalized Pascal matrix, Linear Algebra Appl. 250 (1997) 51-60.
- [14] Z. Zhang, M. Liu, An extension of the generalized Pascal matrix and its algebraic properties, Linear Algebra Appl. 271 (1998) 169-177.